H & 0l & AHS B Ml A

20288% F=Z 2 3| US| JI=HSHS XA

2A: JIZHSHSKIRE
HH: J|IFHIUSHE
S J|EHIUESHERS (EEEE))

N -8 S2A(SIH) - HRAY - B 0] a0t ol H o CImE=E
JIZHSHS KA 5,072,131 4,204,140 867,991
= 336,000 336,000 0
= 91,500 91,500 0
= 4,644,631 3,776,640 867,991
HatHSd s 5,024,600 4,174,600 850,000
= 336,000 336,000 0
L= 91,500 91,500 0
i 4,597,100 3,747,100 850,000
JIZHSHENESHE 4,482,800 3,632,800 850,000
JIZHEHE sHHARCX =4 4,287,800 3,437,800 850,000
401 AIEHIZL 28I 4,218,800 3,368,800 850,000
01 AlEHI 4,203,800 3,353,800 850,000
O digz JI=8HsiE sHHREX X4
EX % XN&E= 24|
Z2& 2,950,000,000 2,950,000 2,100,000 850,000
NHRESOIZHSUHSKIA) 17,991 0 17,991
28X E 17,991 0 17,991
=& H|gtEE 17,991 0 17,991
802 Btz JIEL 17,991 0 17,991
01 I NEXZLEZ 12,716 0 12,716
O 2228 MEA H ==22)IsE5 AlgA
2 =] Y& 11,126,000 11,126 0 11,126
O 20228 MEA H ==222DIEsE2 AIgAt
& =H| OlAt 1,590,000& 1,590 1,590
02 Al - SHIEXEZEHEZ 5,275 5,275
O 2229 MEA H =222 |I=E38 AlgAt
& CH| YA 4,734,000 4,734 0 4,734
O 20228 MEA B ==2ellI=E8 AgA
& &4l OlXt 541,000 541 0 541




